Security: Description: CUSIP Number: Dated Date: Original Issue Date: Additional Issue Date(s): Maturity Date: Ref CPI on Dated Date:			Description: CUSIP Number: Dated Date: Original Issue Date: Additional Issue Date(s): Maturity Date:			3-5/8% 30-Year TIPS TIPS of April 2028 912810FD5 April 15, 1998 April 15, 1998 July 15, 1998 April 15, 2028 161.74000	3-7/8% 30-Year TIPS TIPS of April 2029 912810FH6 April 15, 1999 April 15, 1999 October 15, 1999 October 16, 2000 April 15, 2029 164.39333	4-1/4% 10-Year TIPS Series A-2010 9128275W8 January 15, 2000 January 18, 2000 July 17, 2000 January 15, 2010 168.24516	3-1/2% 10-Year TIP Series A-2011 9128276R8 January 15, 2001 January 16, 2001 July 16, 2001 January 15, 2011 174.04516
Da	ate		Ref CPI	Index Ratio	Index Ratio	Index Ratio	Index Ratio		
June	1	2009	212.70900	1.31513	1.29390	1.26428	1.22215		
June	2	2009	212.70900	1.31513	1.29390	1.26439	1.22213		
June	2	2009	212.72070	1.31535	1.29401	1.26449	1.22235		
June	4	2009	212.76210	1.31546	1.29412	1.26460	1.22245		
June	5	2009	212.77980	1.31557	1.29433	1.26470	1.22245		
June	6	2009	212.79750	1.31568	1.29444	1.26481	1.22256		
June	0 7	2009	212.81520	1.31579	1.29455	1.26491	1.22276		
June	8	2009	212.83290	1.31590	1.29466	1.26502	1.22286		
June	9	2009	212.85060	1.31600	1.29400	1.26512	1.22296		
June	10	2009	212.86830	1.31611	1.29487	1.26523	1.22306		
June	10	2009	212.88600	1.31622	1.29498	1.26533	1.22300		
June	12	2009	212.90370	1.31633	1.29509	1.26544	1.22327		
June	12	2009	212.90370	1.31644	1.29519	1.26554	1.22337		
June	13	2009	212.93910	1.31655	1.29530	1.26565	1.22347		
June	15	2009	212.95680	1.31666	1.29541	1.26575	1.22357		
June	16	2009	212.97450	1.31677	1.29552	1.26586	1.22367		
June	17	2009	212.99220	1.31688	1.29563	1.26596	1.22378		
June	18	2009	213.00990	1.31699	1.29573	1.26607	1.22388		
June	19	2009	213.02760	1.31710	1.29584	1.26617	1.22398		
June	20	2009	213.04530	1.31721	1.29595	1.26628	1.22408		
June	20	2009	213.06300	1.31732	1.29606	1.26638	1.22418		
June	22	2009	213.08070	1.31743	1.29616	1.26649	1.22428		
June	23	2009	213.09840	1.31754	1.29627	1.26659	1.22439		
June	24	2009	213.11610	1.31765	1.29638	1.26670	1.22449		
June	25	2009	213.13380	1.31776	1.29649	1.26680	1.22459		
June	26	2009	213.15150	1.31787	1.29659	1.26691	1.22469		
June	27	2009	213.16920	1.31797	1.29670	1.26702	1.22479		
June	28	2009	213.18690	1.31808	1.29681	1.26712	1.22489		
June	29	2009	213.20460	1.31819	1.29692	1.26723	1.22500		
June	30	2009	213.22230	1.31830	1.29703	1.26733	1.22510		
CPI-U	(NSA) for:		February 20	09 212.193	March 2009 212.709	April 2009	213.24		

Security: Description: CUSIP Number: Dated Date: Original Issue Date: Additional Issue Date(s): Maturity Date: Ref CPI on Dated Date:			TIPSDescription:TIPS of April 203PUSIP Number:912810FQ6Dated Date:October 15, 2001Original Issue Date:October 15, 2001Idditional Issue Date(s):April 15, 2032		3-3/8% 10-Year TIPS Series A-2012 9128277J5 January 15, 2002 January 15, 2002 January 15, 2012 177.56452	3% 10-Year TIPS Series C-2012 912828AF7 July 15, 2002 July 15, 2002 October 15, 2002 January 15, 2003 July 15, 2012 179.80000	1-7/8% 10-Year TIF Series C-2013 912828BD1 July 15, 2003 July 15, 2003 October 15, 2003 July 15, 2013 183.66452
Da	ate		Ref CPI	Index Ratio	Index Ratio	Index Ratio	Index Ratio
June	1	2009	212.70900	1.19836	1.19793	1.18303	
June	2	2009	212.70500	1.19846	1.19802	1.18303	1.15824
June	3	2009	212.72070	1.19856	1.19802	1.18313	1.15833
June	4	2009	212.76210	1.19866	1.19822	1.18333	1.15843
June	5	2009	212.77980	1.19876	1.19832	1.18333	1.15852
June	6	2009	212.79750	1.19886	1.19842	1.18352	1.15862
June	7	2009	212.81520	1.19896	1.19852	1.18352	1.15872
June	8	2009	212.81520	1.19890	1.19852	1.18302	1.15881
June	9	2009	212.85060	1.19900	1.19802	1.18372	1.15891
June	10	2009	212.85000	1.19916	1.19872	1.18392	1.15901
June	10	2009	212.80830	1.19920	1.19882	1.18392	1.15901
June	11	2009	212.88600	1.19936	1.19892	1.18402	1.15920
June	12	2009	212.90370	1.19940	1.19902	1.18421	1.15930
	15 14		212.92140 212.93910	1.19956	1.19912		1.15930
June June	14 15	2009 2009	212.93910	1.19966	1.19922	1.18431 1.18441	1.15939
	15 16	2009	212.95680 212.97450	1.19976	1.19932	1.18441	1.15958
June	10	2009	212.97450	1.19986	1.19942	1.18451	1.15958
June June	17	2009	212.99220 213.00990	1.20006	1.19952	1.18401	1.15968
June	19	2009	213.02760	1.20016	1.19972 1.19982	1.18480	1.15987
June	20	2009	213.04530	1.20026		1.18490	1.15997
June	21	2009	213.06300 213.08070	1.20035 1.20045	1.19992 1.20002	1.18500	1.16007 1.16016
June	22	2009				1.18510	
June	23	2009	213.09840	1.20055	1.20012 1.20022	1.18520	1.16026
June	24	2009	213.11610	1.20065		1.18530	1.16036
June	25 26	2009	213.13380	1.20075	1.20032	1.18539	1.16045
June	26 27	2009	213.15150 213.16920	1.20085 1.20095	1.20042 1.20052	1.18549 1.18559	1.16055
June	27	2009					1.16064
June	28	2009	213.18690	1.20105	1.20062	1.18569	1.16074
June June	29 30	2009 2009	213.20460 213.22230	1.20115 1.20125	1.20072 1.20082	1.18579 1.18589	1.16084 1.16093
CPI-U (	CPI-U (NSA) for: Febr			009 212.193	March 2009 212.709	April 2009	213.24

Date     Ref CPI     Index Ratio     Index Ratio     Index Ratio     Index Ratio       June     1     2009     212.70900     1.15118     1.12845     1.12845     1.12845       June     3     2009     212.72670     1.15128     1.12854     1.12844     1.12289       June     4     2009     212.76210     1.15147     1.12873     1.12873     1.12304       June     5     2009     212.79750     1.15166     1.2892     1.12882     1.12337       June     6     2009     212.879750     1.15166     1.2890     1.12890     1.12336       June     7     2009     212.83500     1.15176     1.12901     1.12336       June     9     2009     212.88630     1.15205     1.12929     1.12329     1.12354       June     10     2009     212.88630     1.15205     1.12929     1.12323     1.12939     1.12354       June     13     2009     212.98680     1.15233     1.12976     1.12976     1.1	Security: Description: CUSIP Number: Dated Date: Original Issue Date: Additional Issue Date(s): Maturity Date: Ref CPI on Dated Date:				Description: CUSIP Number: Dated Date: Original Issue Date: Additional Issue Date(s): Maturity Date:		Description: CUSIP Number: Dated Date: Original Issue Date: Additional Issue Date(s): Maturity Date:		2% 10-Year TIPS Series A-2014 912828BW9 January 15, 2004 January 15, 2004 April 15, 2004 January 15, 2014 184.77419	2% 10-Year TIPS Series D-2014 912828CP3 July 15, 2004 July 15, 2004 October 15, 2004 July 15, 2014 188.49677	2-3/8% 20-1/2-Year TIPS TIPS of January 2025 912810FR4 July 15, 2004 July 30, 2004 January 31, 2005 July 29, 2005 January 15, 2025 188.49677	0-7/8% 5-1/2-Year TIPS Series D-2010 912828CZ1 October 15, 2004 October 29, 2004 April 29, 2005 October 28, 2005 April 15, 2010 189.44516
June22009212.726701.151281.128541.128541.128541.12289June32009212.744401.151381.128641.128641.12299June42009212.779801.151571.128731.128731.12873June62009212.779801.151671.128821.128221.12822June62009212.875201.151661.129011.129011.12336June72009212.850001.151851.129111.129111.12345June92009212.880001.151551.129201.129201.12336June102009212.886001.152051.129291.129391.12373June112009212.903701.152331.129481.129481.12833June132009212.939101.152331.129581.129761.12401June152009212.975601.152521.129761.129671.12401June162009212.975801.152621.129761.129671.12401June172009213.027601.152721.129551.129551.12429June182009213.027001.152011.130051.130051.12439June192009213.027001.152301.130141.130141.12488June212009213.007001.152301.130231.13023 <t< th=""><th>Da</th><th>te</th><th></th><th>Ref CPI</th><th>Index Ratio</th><th>Index Ratio</th><th>Index Ratio</th><th rowspan="2"></th></t<>	Da	te		Ref CPI	Index Ratio	Index Ratio	Index Ratio					
June22009212.726701.151281.128541.128541.128541.12289June32009212.744401.151381.128641.128641.12299June42009212.779801.151571.128731.128731.12873June62009212.779801.151671.128821.128221.12822June62009212.875201.151661.129011.129011.12336June72009212.850001.151851.129111.129111.12345June92009212.880001.151551.129201.129201.12336June102009212.886001.152051.129291.129391.12373June112009212.903701.152331.129481.129481.12833June132009212.939101.152331.129581.129761.12401June152009212.975601.152521.129761.129671.12401June162009212.975801.152621.129761.129671.12401June172009213.027601.152721.129551.129551.12429June182009213.027001.152011.130051.130051.12439June192009213.027001.152301.130141.130141.12488June212009213.007001.152301.130231.13023 <t< th=""><th>Iune</th><th>1</th><th>2009</th><th>212 70900</th><th>1 15110</th><th>1 12845</th><th>1 12845</th></t<>	Iune	1	2009	212 70900	1 15110	1 12845	1 12845					
June32009212.744401.151381.128641.128641.128641.12873June42009212.779501.151571.128731.128731.12873June62009212.797501.151661.128921.128921.12317June72009212.815201.151761.129011.129011.12336June82009212.832901.151851.129111.129011.12335June92009212.868001.151951.129201.129201.12354June102009212.868001.152051.129291.129291.12354June112009212.986001.152141.129481.129481.129391.12333June132009212.993101.152331.129581.129481.129481.12949June142009212.9939101.152521.129761.129671.12401June162009212.974501.152621.129661.129671.12411June162009213.09701.152811.130141.130141.12499June182009213.045301.152001.130151.130151.12499June192009213.045301.153001.130131.130131.12488June212009213.045301.153001.130131.130141.12486June222009213.045701.15300<												
June42009212.762101.151471.128731.128731.12308June52009212.779801.151571.128821.128821.12327June62009212.87501.151661.128921.12327June72009212.815201.151761.129011.129011.12336June82009212.832901.151851.129111.129111.12345June92009212.886001.151951.129291.129201.12373June102009212.886001.152051.129291.129391.12373June112009212.993701.152331.129481.129481.12383June122009212.993701.152331.129581.129581.12392June142009212.995601.152521.129671.129671.12401June162009212.995601.152521.129671.129761.12420June172009212.99201.152721.129551.129751.12420June182009213.00501.152011.130141.130141.12438June202009213.063001.153001.130231.130331.12458June212009213.063001.153001.130231.130421.12476June232009213.063001.153291.130411.12448June24 <td< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></td<>												
June52009212.779801.151571.128821.128821.12817June62009212.797501.151661.128921.128921.128921.12317June72009212.815201.151661.129011.129011.12336June82009212.832901.151851.129111.129111.12345June92009212.868301.151951.129201.129201.12355June102009212.868301.152051.129291.129391.12373June112009212.868001.15141.129391.129391.12373June132009212.903701.152331.129581.129481.129481.12948June132009212.91401.152331.129581.129761.129761.12401June152009212.939101.152521.129761.129761.12401June152009212.978601.152621.129761.129761.12401June162009213.027601.152721.129951.129861.12429June192009213.027601.152911.130141.130141.12439June202009213.045301.153001.130231.130231.12458June212009213.063001.153201.130421.130421.12476June222009213.098401.15329 <t< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></t<>												
June62009212.797501.151661.128921.128921.128921.12327June72009212.815201.151761.129011.129011.12336June82009212.832001.151851.129101.129111.12345June102009212.86601.151951.129201.129201.12355June112009212.868001.152141.129391.129391.12373June122009212.903701.152241.129481.129481.12383June132009212.93101.152331.129581.129581.12958June142009212.93401.152521.129761.129671.12401June152009212.93501.152521.129761.129661.12411June162009212.974501.152621.129661.129761.12401June172009213.07601.152721.129551.129551.12420June192009213.063001.152101.130141.130141.13014June202009213.063001.152021.130331.130331.12457June212009213.063001.153101.130331.130421.12476June222009213.080701.153291.130421.130421.12476June232009213.16101.153291.130611.13061							1.12882					
June72009212.815201.151761.129011.129011.12336June82009212.832901.151851.129111.129111.12345June92009212.868301.151951.129201.129201.12354June112009212.868301.152051.129291.129391.12373June112009212.986001.152141.129391.129391.12373June122009212.93701.152241.129481.129481.12948June132009212.93101.152331.129581.129561.12976June142009212.93401.152321.129671.129671.12401June162009212.974501.152521.129671.129761.12411June162009212.974501.152721.129951.129951.12429June182009213.009901.152811.130051.130051.12439June192009213.063001.153101.130231.130231.12458June202009213.063001.153101.130331.130331.12456June222009213.063001.153291.130421.130421.12476June232009213.063001.153291.130421.130511.12486June242009213.13801.153291.130511.130511.12476 </td <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td>												
June82009212.832901.151851.129111.129111.12345June92009212.850601.151951.129201.129201.12355June102009212.86001.151951.129291.129291.12373June112009212.86001.152141.129391.12373June122009212.903701.152241.129481.129481.12383June132009212.903701.152431.129671.129671.12976June142009212.903701.152431.129671.129671.12401June152009212.974501.152621.129661.129761.12411June162009212.974501.152621.129861.129861.12420June172009213.07601.152621.129861.129551.12429June182009213.02601.152911.130051.130051.12439June202009213.045301.153001.130231.130231.12458June212009213.045301.153001.130231.130421.12476June222009213.045301.153291.130421.130421.12476June232009213.080701.153291.130511.130421.12476June242009213.18001.153391.130611.130421.12476June<												
June92009212.850601.151951.129201.129201.12355June102009212.868301.152051.129291.129291.12364June112009212.886001.152141.129391.129391.12373June122009212.903701.152241.129481.129481.12383June132009212.903701.152331.129581.129671.129671.12401June142009212.939101.152521.129761.129671.12401June152009212.974501.152621.129861.129761.12401June162009212.974501.152621.129861.129861.12420June172009213.009901.152811.130051.130051.12439June192009213.009001.152911.130141.130141.12488June212009213.063001.153001.130331.130331.12457June222009213.063001.153201.130421.130421.12476June232009213.13801.153291.130511.130611.12486June242009213.13801.153391.130511.130611.12476June252009213.13801.153771.130801.130801.12514June262009213.151501.153771.130881.13089 <td></td> <td></td> <td>=</td> <td></td> <td></td> <td></td> <td></td> <td></td>			=									
June102009212.868301.152051.129291.129291.12939June112009212.866001.152141.129391.129391.12373June122009212.903701.152241.129481.129481.12948June132009212.93701.152431.129581.129571.12967June142009212.939101.152431.129671.129671.12401June152009212.974501.152521.129761.129761.12411June162009212.974501.152621.129861.129861.12420June172009213.009001.152711.130051.130051.12499June192009213.027601.152911.130141.130141.12448June202009213.027601.153001.130231.130331.12457June212009213.063001.153101.130331.130331.12467June222009213.08701.153291.130511.130511.12467June232009213.108401.153391.130511.12467June242009213.116101.153391.130511.130511.12467June252009213.151501.1537671.130611.130611.12495June262009213.151501.1537671.130801.130801.12514 <t< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></t<>												
June122009212.903701.152241.129481.129481.12948June132009212.921401.152331.129581.129581.12958June142009212.939101.152431.129671.129671.12401June152009212.956801.152521.129761.129761.12411June162009212.974501.152521.129761.129861.12986June172009212.974501.152721.129951.129951.12429June182009213.009901.152811.130051.130051.12439June192009213.027601.152911.130141.130141.12448June202009213.063001.153101.130231.130231.12467June212009213.08701.153201.130421.130421.12476June232009213.098401.153291.130511.130511.12486June242009213.16101.153391.130611.130701.12476June252009213.16101.153781.130801.130801.12495June262009213.169201.153671.130891.130801.12504June272009213.169201.153671.130891.130801.12514June282009213.16901.153771.130881.130981.12523 <td></td> <td>10</td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td>		10										
June122009212.903701.152241.129481.129481.129481.12383June132009212.921401.152331.129581.129581.129581.12392June142009212.939101.152431.129671.129671.12401June152009212.956801.152521.129761.129761.12411June162009212.974501.152521.129861.129861.12420June172009212.974501.152721.129951.129951.12429June182009213.009901.152811.130051.130051.12439June192009213.027601.152911.130141.130141.12448June202009213.063001.153101.130231.130231.12476June212009213.08701.153201.130421.130421.12476June232009213.098401.153291.130511.130511.12486June242009213.16101.153391.130611.130701.12495June252009213.16101.153781.130801.130801.12461June262009213.169201.153771.130891.130801.12514June272009213.169201.153771.130881.130881.12523June282009213.204601.153871.13108 <td>June</td> <td>11</td> <td>2009</td> <td>212.88600</td> <td>1.15214</td> <td>1.12939</td> <td>1.12939</td> <td>1.12373</td>	June	11	2009	212.88600	1.15214	1.12939	1.12939	1.12373				
June142009212.939101.152431.129671.129671.12401June152009212.956801.152521.129761.129761.12411June162009212.974501.152621.129861.129861.129861.12420June172009212.992201.152721.129951.129951.12429June182009213.009901.152811.130051.130051.12439June192009213.027601.152911.130141.130141.12448June202009213.063001.153001.130231.12458June212009213.063001.153101.130331.130331.12467June222009213.080701.153201.130421.130421.12476June232009213.116101.153291.130511.130511.12486June242009213.116101.15381.130611.130701.12504June252009213.151501.153581.130801.130701.12504June272009213.169201.153671.130891.130891.12523June282009213.186901.153771.130881.130881.12523June292009213.204601.153871.131081.131081.12532	June		2009	212.90370	1.15224	1.12948	1.12948	1.12383				
June152009212.956801.152521.129761.129761.12976June162009212.974501.152621.129861.129861.12986June172009212.992201.152721.129951.129951.12995June182009213.009901.152811.130051.130051.13014June192009213.027601.152911.130141.130141.12448June202009213.045301.153001.130231.130231.12458June212009213.063001.153101.130331.130331.12467June222009213.080701.153201.130421.130421.12476June232009213.08401.153291.130511.130511.12486June242009213.16101.15391.130511.130611.12495June252009213.13801.153481.130701.130801.12495June262009213.151501.153581.130801.130801.12514June272009213.169201.153671.130891.130891.12523June282009213.186901.153771.130981.130981.12532June292009213.204601.153771.130981.131081.12532	June	13	2009	212.92140	1.15233	1.12958	1.12958	1.12392				
June162009212.974501.152621.129861.129861.129861.12420June172009212.992201.152721.129951.129951.129951.12429June182009213.009901.152811.130051.130051.130051.12439June192009213.027601.152911.130141.130141.12448June202009213.045301.153001.130231.130231.12458June212009213.063001.153101.130331.130331.12467June222009213.080701.153201.130421.130421.12476June232009213.1080701.153291.130511.130511.12486June242009213.116101.153991.130611.130611.12495June252009213.13801.153481.130701.130701.12504June262009213.169201.153671.130891.130801.12514June272009213.169201.153671.130891.130891.12523June282009213.186901.153771.130981.130981.12532June292009213.204601.153871.131081.131081.12542	June	14	2009	212.93910	1.15243	1.12967	1.12967	1.12401				
June172009212.992201.152721.129951.129951.12995June182009213.009901.152811.130051.130051.12439June192009213.027601.152911.130141.130141.12448June202009213.045301.153001.130231.130231.12458June212009213.063001.153101.130331.130331.12467June222009213.080701.153201.130421.130421.12476June232009213.080701.153291.130511.130511.12486June242009213.116101.153391.130611.130611.12495June252009213.133801.153481.130701.130701.12504June262009213.169201.153671.130891.130801.12514June272009213.169201.153771.130981.130981.12532June282009213.204601.153771.130981.130801.12532June292009213.204601.153871.131081.131081.12542	June	15	2009	212.95680	1.15252	1.12976	1.12976	1.12411				
June182009213.009901.152811.130051.130051.13005June192009213.027601.152911.130141.130141.12448June202009213.045301.153001.130231.130231.12458June212009213.063001.153101.130331.130331.12467June222009213.080701.153201.130421.130421.12476June232009213.098401.153291.130511.130511.12486June242009213.116101.153391.130611.130611.12495June252009213.133801.153481.130701.130701.12504June262009213.151501.153581.130801.130801.12514June272009213.169201.153671.130891.130891.12523June282009213.186901.153771.130981.130981.12532June292009213.204601.153871.131081.131081.12542	June	16	2009	212.97450	1.15262	1.12986	1.12986	1.12420				
June192009213.027601.152911.130141.130141.12448June202009213.045301.153001.130231.130231.12458June212009213.063001.153101.130331.130331.12467June222009213.080701.153201.130421.130421.12476June232009213.098401.153291.130511.130511.12486June242009213.116101.153391.130611.130611.12495June252009213.133801.153481.130701.130701.12504June262009213.151501.153581.130801.130801.12514June272009213.169201.153671.130891.130891.12523June282009213.186901.153771.130981.130981.12532June292009213.204601.153871.131081.131081.12542	June	17	2009	212.99220	1.15272	1.12995	1.12995	1.12429				
June202009213.045301.153001.130231.130231.12458June212009213.063001.153101.130331.130331.12467June222009213.080701.153201.130421.130421.12476June232009213.098401.153291.130511.130511.12486June242009213.116101.153391.130611.130611.12495June252009213.13801.153481.130701.130701.12504June262009213.151501.153581.130801.130801.12514June272009213.169201.153671.130891.130891.12523June282009213.186901.153771.130981.130981.12532June292009213.204601.153871.131081.131081.12542	June	18	2009	213.00990	1.15281	1.13005	1.13005	1.12439				
June212009213.063001.153101.130331.130331.12467June222009213.080701.153201.130421.130421.12476June232009213.098401.153291.130511.130511.12486June242009213.116101.153391.130611.130611.12495June252009213.133801.153481.130701.130701.12504June262009213.151501.153581.130801.130801.12514June272009213.169201.153671.130891.130891.12523June282009213.186901.153771.130981.130981.12532June292009213.204601.153871.131081.131081.12542	June	19	2009	213.02760	1.15291	1.13014	1.13014	1.12448				
June222009213.080701.153201.130421.130421.13042June232009213.098401.153291.130511.130511.12486June242009213.116101.153391.130611.130611.12495June252009213.133801.153481.130701.130701.12504June262009213.151501.153581.130801.130801.12514June272009213.169201.153671.130891.130891.12523June282009213.186901.153771.130981.130981.12532June292009213.204601.153871.131081.131081.12542	June	20	2009	213.04530	1.15300	1.13023	1.13023	1.12458				
June232009213.098401.153291.130511.130511.12486June242009213.116101.153391.130611.130611.12495June252009213.133801.153481.130701.130701.12504June262009213.151501.153581.130801.130801.12514June272009213.169201.153671.130891.130891.12523June282009213.186901.153771.130981.130981.12532June292009213.204601.153871.131081.131081.12542	June	21	2009	213.06300	1.15310	1.13033	1.13033	1.12467				
June242009213.116101.153391.130611.130611.12495June252009213.13801.153481.130701.130701.12504June262009213.151501.153581.130801.130801.12514June272009213.169201.153671.130891.130891.12523June282009213.186901.153771.130981.130981.12532June292009213.204601.153871.131081.131081.12542	June											
June252009213.13801.153481.130701.130701.12504June262009213.151501.153581.130801.130801.12514June272009213.169201.153671.130891.130891.12523June282009213.186901.153771.130981.130981.12532June292009213.204601.153871.131081.131081.12542	June											
June262009213.151501.153581.130801.130801.12514June272009213.169201.153671.130891.130891.12523June282009213.186901.153771.130981.130981.12532June292009213.204601.153871.131081.131081.12542	June											
June272009213.169201.153671.130891.130891.12523June282009213.186901.153771.130981.130981.12532June292009213.204601.153871.131081.131081.12542												
June282009213.186901.153771.130981.130981.13098June292009213.204601.153871.131081.131081.12542												
June 29 2009 213.20460 1.15387 1.13108 1.13108 1.12542												
June 30 2009 213.22230 1.15396 1.13117 1.13117 1.12551												
	June	30	2009	213.22230	1.15396	1.13117	1.13117	1.12551				

Security: Description: CUSIP Number: Dated Date: Original Issue Date: Additional Issue Date(s): Maturity Date: Ref CPI on Dated Date:				aber: 912828DH0 912828EA4   January 15, 2005 July 15, 2005   ue Date: January 18, 2005 July 15, 2005   Issue Date(s): April 15, 2005 October 17, 2005   ate: January 15, 2015 July 15, 2015		2% 10-Year TIPS Series A-2016 912828ET3 January 15, 2006 January 17, 2006 April 17, 2006 January 15, 2016 198.47742	2% 20-Year TIPS TIPS of January 2026 912810FS2 January 15, 2006 January 31, 2006 July 31, 2006 January 15, 2026 198.47742
Date Ref CPI			Ref CPI	Index Ratio	Index Ratio	Index Ratio	Index Ratio
June	1	2009	212.70900	1.11398	1.09357	1.07170	1.07170
June	2	2009	212.72670	1.11407	1.09366	1.07179	1.07179
June	3	2009	212.74440	1.11416	1.09375	1.07188	1.07188
June	4	2009	212.76210	1.11426	1.09384	1.07197	1.07197
June	5	2009	212.77980	1.11435	1.09393	1.07206	1.07206
June	6	2009	212.79750	1.11444	1.09402	1.07215	1.07215
June	7	2009	212.81520	1.11454	1.09411	1.07224	1.07224
June	8	2009	212.83290	1.11463	1.09420	1.07233	1.07233
June	9	2009	212.85060	1.11472	1.09429	1.07242	1.07242
June	10	2009	212.86830	1.11481	1.09438	1.07251	1.07251
June	11	2009	212.88600	1.11491	1.09448	1.07260	1.07260
June	12	2009	212.90370	1.11500	1.09457	1.07268	1.07268
June	13	2009	212.92140	1.11509	1.09466	1.07277	1.07277
June	14	2009	212.93910	1.11518	1.09475	1.07286	1.07286
June	15	2009	212.95680	1.11528	1.09484	1.07295	1.07295
June	16	2009	212.97450	1.11537	1.09493	1.07304	1.07304
June	17	2009	212.99220	1.11546	1.09502	1.07313	1.07313
June	18	2009	213.00990	1.11556	1.09511	1.07322	1.07322
June	19	2009	213.02760	1.11565	1.09520	1.07331	1.07331
June	20	2009	213.04530	1.11574	1.09529	1.07340	1.07340
June	21	2009	213.06300	1.11583	1.09539	1.07349	1.07349
June	22	2009	213.08070	1.11593	1.09548	1.07358	1.07358
June	23	2009	213.09840	1.11602	1.09557	1.07367	1.07367
June	24	2009	213.11610	1.11611	1.09566	1.07375	1.07375
June	25	2009	213.13380	1.11620	1.09575	1.07384	1.07384
June	26	2009	213.15150	1.11630	1.09584	1.07393	1.07393
June	27	2009	213.16920	1.11639	1.09593	1.07402	1.07402
June	28	2009	213.18690	1.11648	1.09602	1.07411	1.07411
June	29	2009	213.20460	1.11658	1.09611	1.07420	1.07420
June	30	2009	213.22230	1.11667	1.09620	1.07429	1.07429
CPI-U	CPI-U (NSA) for: Februar			9 212.193	March 2009 212.709	April 2009	213.24

Security: Description: CUSIP Number: Dated Date: Original Issue Date: Additional Issue Date(s): Maturity Date: Ref CPI on Dated Date:				2-3/8% 5-Year TIPS Series G-2011 912828FB1 April 15, 2006 April 28, 2006 October 31, 2006 April 15, 2011 198.48667	2-1/2% 10-Year TIPS Series D-2016 912828FL9 July 15, 2006 July 17, 2006 October 16, 2006 July 15, 2016 201.95161	2-3/8% 10-Year TIPS Series A-2017 912828GD6 January 15, 2007 January 16, 2007 April 16, 2007 January 15, 2017 201.66452	2-3/8% 20-Year TIPS TIPS of January 2027 912810PS1 January 15, 2007 January 31, 2007 July 31, 2007 January 15, 2027 201.66452
Date Ref CPI			Ref CPI	Index Ratio	Index Ratio	Index Ratio	Index Ratio
June	1	2009	212.70900	1.07165	1.05327	1.05477	1.05477
June	2	2009	212.72670	1.07174	1.05335	1.05485	1.05485
June	3	2009	212,74440	1.07183	1.05344	1.05494	1.05494
June	4	2009	212.76210	1.07192	1.05353	1.05503	1.05503
June	5	2009	212.77980	1.07201	1.05362	1.05512	1.05512
June	6	2009	212.79750	1.07210	1.05371	1.05521	1.05521
June	7	2009	212.81520	1.07219	1.05379	1.05529	1.05529
June	8	2009	212.83290	1.07228	1.05388	1.05538	1.05538
June	9	2009	212.85060	1.07237	1.05397	1.05547	1.05547
June	10	2009	212.86830	1.07246	1.05406	1.05556	1.05556
June	11	2009	212.88600	1.07255	1.05414	1.05564	1.05564
June	12	2009	212.90370	1.07263	1.05423	1.05573	1.05573
June	13	2009	212.92140	1.07272	1.05432	1.05582	1.05582
June	14	2009	212.93910	1.07281	1.05441	1.05591	1.05591
June	15	2009	212.95680	1.07290	1.05449	1.05600	1.05600
June	16	2009	212.97450	1.07299	1.05458	1.05608	1.05608
June	17	2009	212.99220	1.07308	1.05467	1.05617	1.05617
June	18	2009	213.00990	1.07317	1.05476	1.05626	1.05626
June	19	2009	213.02760	1.07326	1.05484	1.05635	1.05635
June	20	2009	213.04530	1.07335	1.05493	1.05643	1.05643
June	21	2009	213.06300	1.07344	1.05502	1.05652	1.05652
June	22	2009	213.08070	1.07353	1.05511	1.05661	1.05661
June	23	2009	213.09840	1.07362	1.05520	1.05670	1.05670
June	24	2009	213.11610	1.07370	1.05528	1.05679	1.05679
June	25	2009	213.13380	1.07379	1.05537	1.05687	1.05687
June	26	2009	213.15150	1.07388	1.05546	1.05696	1.05696
June	27	2009	213.16920	1.07397	1.05555	1.05705	1.05705
June	28	2009	213.18690	1.07406	1.05563	1.05714	1.05714
June	29	2009	213.20460	1.07415	1.05572	1.05722	1.05722
June	30	2009	213.22230	1.07424	1.05581	1.05731	1.05731
CPLU	CPI-U (NSA) for: February			9 212.193	March 2009 212.709	April 2009	213.24

Security: Description: CUSIP Number: Dated Date: Original Issue Date: Additional Issue Date(s): Maturity Date: Ref CPI on Dated Date: Date Ref CPI			stion:     Series J-2012     Series D-2017       Number:     912828GN4     912828GX2       Pate:     April 15, 2007     July 15, 2007       I Issue Date:     April 30, 2007     July 16, 2007       nal Issue Date(s):     October 31, 2007     October 15, 2007       y Date:     April 15, 2012     July 15, 2017		912828GX2 July 15, 2007 July 16, 2007 October 15, 2007 July 15, 2017	1-5/8% 10-Year TIPS Series A-2018 912828HN3 January 15, 2008 January 15, 2008 April 15, 2008 January 15, 2018 209.49645	1-3/4% 20-Year TIPS TIPS of January 2028 912810PV4 January 15, 2008 January 31, 2008 July 31, 2008 January 15, 2028 209.49645
			Ref CPI	Index Ratio	Index Ratio	Index Ratio	Index Ratio
June	1	2009	212.70900	1.04823	1.02631	1.01533	1.01533
June	2	2009	212.72670	1.04832	1.02639	1.01542	1.01542
June	3	2009	212.74440	1.04841	1.02648	1.01550	1.01550
June	4	2009	212.76210	1.04850	1.02656	1.01559	1.01559
June	5	2009	212.77980	1.04858	1.02665	1.01567	1.01567
June	6	2009	212.79750	1.04867	1.02674	1.01576	1.01576
June	7	2009	212.81520	1.04876	1.02682	1.01584	1.01584
June	8	2009	212.83290	1.04884	1.02691	1.01593	1.01593
June	9	2009	212.85060	1.04893	1.02699	1.01601	1.01601
June	10	2009	212.86830	1.04902	1.02708	1.01610	1.01610
June	11	2009	212.88600	1.04911	1.02716	1.01618	1.01618
June	12	2009	212.90370	1.04919	1.02725	1.01626	1.01626
June	13	2009	212.92140	1.04928	1.02733	1.01635	1.01635
June	14	2009	212.93910	1.04937	1.02742	1.01643	1.01643
June	15	2009	212.95680	1.04945	1.02750	1.01652	1.01652
June	16	2009	212.97450	1.04954	1.02759	1.01660	1.01660
June	17	2009	212.99220	1.04963	1.02767	1.01669	1.01669
June	18	2009	213.00990	1.04972	1.02776	1.01677	1.01677
June	19	2009	213.02760	1.04980	1.02785	1.01686	1.01686
June	20	2009	213.04530	1.04989	1.02793	1.01694	1.01694
June	21	2009	213.06300	1.04998	1.02802	1.01702	1.01702
June	22	2009	213.08070	1.05007	1.02810	1.01711	1.01711
June	23	2009	213.09840	1.05015	1.02819	1.01719	1.01719
June	24	2009	213.11610	1.05024	1.02827	1.01728	1.01728
June	25	2009	213.13380	1.05033	1.02836	1.01736	1.01736
June	26	2009	213.15150	1.05041	1.02844	1.01745	1.01745
June	27	2009	213.16920	1.05050	1.02853	1.01753	1.01753
June	28	2009	213.18690	1.05059	1.02861	1.01762	1.01762
June	29	2009	213.20460	1.05068	1.02870	1.01770	1.01770
June	30	2009	213.22230	1.05076	1.02879	1.01778	1.01778
CPI-U	(NSA) for:	CPI-U (NSA) for: Februa			March 2009 212.709	April 2009	213.24

Security: Description: CUSIP Number: Dated Date: Original Issue Date: Additional Issue Date(s): Maturity Date: Ref CPI on Dated Date: Date Ref CPI			Description: CUSIP Number: Dated Date: Original Issue Date: Additional Issue Date(s): Maturity Date:		scription: (SIP Number: ted Date: iginal Issue Date: ditional Issue Date(s): turity Date:		0-5/8% 5-Year TIPS Series J-2013 912828HW3 April 15, 2008 April 30, 2008 October 31, 2008 April 15, 2013 211.36607	1-3/8% 10-Year TIPS Series D-2018 912828JE1 July 15, 2008 July 15, 2008 October 15, 2008 July 15, 2018 215.63997	2-1/8% 10-Year TIPS Series A-2019 912828JX9 January 15, 2009 January 15, 2009 April 15, 2009 January 15, 2019 214.69971	2-1/2% 20-Year TIPS TIPS of January 2025 912810PZ5 January 15, 2009 January 30, 2009 January 15, 2029 214.69971
			Ref CPI	Index Ratio	Index Ratio	Index Ratio	Index Ratio			
June	1	2009	212.70900	1.00635	0.98641	0.99073	0.99073			
June	2	2009	212.72670	1.00644	0.98649	0.99081	0.99081			
June	3	2009	212.74440	1.00652	0.98657	0.99089	0.99089			
June	4	2009	212.76210	1.00660	0.98665	0.99098	0.99098			
June	5	2009	212.77980	1.00669	0.98674	0.99106	0.99106			
June	6	2009	212.79750	1.00677	0.98682	0.99114	0.99114			
June	7	2009	212.81520	1.00686	0.98690	0.99122	0.99122			
June	8	2009	212.83290	1.00694	0.98698	0.99131	0.99131			
June	9	2009	212.85060	1.00702	0.98706	0.99139	0.99139			
June	10	2009	212.86830	1.00711	0.98715	0.99147	0.99147			
June	11	2009	212.88600	1.00719	0.98723	0.99155	0.99155			
June	12	2009	212.90370	1.00727	0.98731	0.99163	0.99163			
June	13	2009	212.92140	1.00736	0.98739	0.99172	0.99172			
June	14	2009	212.93910	1.00744	0.98748	0.99180	0.99180			
June	15	2009	212.95680	1.00753	0.98756	0.99188	0.99188			
June	16	2009	212.97450	1.00761	0.98764	0.99196	0.99196			
June	17	2009	212.99220	1.00769	0.98772	0.99205	0.99205			
June	18	2009	213.00990	1.00778	0.98780	0.99213	0.99213			
June	19	2009	213.02760	1.00786	0.98789	0.99221	0.99221			
June	20	2009	213.04530	1.00794	0.98797	0.99229	0.99229			
June	21	2009	213.06300	1.00803	0.98805	0.99238	0.99238			
June	21	2009	213.08070	1.00811	0.98813	0.99246	0.99246			
June	23	2009	213.09840	1.00820	0.98821	0.99254	0.99254			
June	23	2009	213.11610	1.00828	0.98830	0.99262	0.99262			
June	25	2009	213.13380	1.00836	0.98838	0.99271	0.99271			
June	26	2009	213.15150	1.00845	0.98846	0.99279	0.99279			
June	20	2009	213.16920	1.00853	0.98854	0.99287	0.99287			
June	28	2009	213.18690	1.00861	0.98862	0.99295	0.99295			
June	20	2009	213.20460	1.00870	0.98871	0.99304	0.99304			
June	30	2009	213.22230	1.00878	0.98879	0.99312	0.99312			
CPI-U	(NSA) for:		February 200	9 212.193	March 2009 212.709	April 2009	213.24			

Security: Description: CUSIP Number: Dated Date: Original Issue Date: Additional Issue Date(s): Maturity Date: Ref CPI on Dated Date:				1-1/4% 5-Year TIPS Series K-2014 912828KM1 April 15, 2009 April 30, 2009 April 15, 2014 211.63300				
D	Date Ref CPI			Index Ratio				
June	1	2009	212.70900	1.00508				
June	2	2009	212.72670	1.00517				
June	3	2009	212.74440	1.00525				
June	4	2009	212.76210	1.00534				
June	5	2009	212.77980	1.00542				
June	6	2009	212.79750	1.00550				
June	7	2009	212.81520	1.00559				
June	8	2009	212.83290	1.00567				
June	9	2009	212.85060	1.00575				
June	10	2009	212.86830	1.00584				
June	11	2009	212.88600	1.00592				
June	12	2009	212.90370	1.00600				
June	13	2009	212.92140	1.00609				
June	14	2009	212.93910	1.00617				
June	15	2009	212.95680	1.00626				
June	16	2009	212.97450	1.00634				
June	17	2009	212.99220	1.00642				
June	18	2009	213.00990	1.00651				
June	19	2009	213.02760	1.00659				
June	20	2009	213.04530	1.00667				
June	21	2009	213.06300	1.00676				
June	22	2009	213.08070	1.00684				
June	23	2009	213.09840	1.00692				
June	24	2009	213.11610	1.00701				
June	25	2009	213.13380	1.00709				
June	26	2009	213.15150	1.00718				
June	27	2009	213.16920	1.00726				
June	28	2009	213.18690	1.00734				
June	29 20	2009	213.20460	1.00743				
June	30	2009	213.22230	1.00751				
CPLU	CPI-U (NSA) for: Fe		February 20	09 212.193	March 2009	212.709	April 2009	213.24